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If wires don’t have negligible resistance, then the wires will heat up and potentially start a fire.
Using bulbs that have larger resistances make the resistance of the wires to become more
negligible.

Q: Why do the same bulbs in a series have less resistance than the same bulbs in parallel

circuits? s
Potential drop across each bulb in a series is the same. The more bulbs you add, the less the drop
in potential. The more bulbs that you add to a series circuit, each bulb will have less resistance.
When the resistance of the bulbs is much less than the resistance of the wire, the parallel circuit
is “abnormal ” The distance of the bulb from the battery makes a difference on its brightness
because of the resistance of the wire. The wire, since it has the most resistance, will heat up.
Current is like water moving through a pipe. The water entering must equal the water leaving.
Through the first pipe sponge is more water entering it than entering the second sponge, but there
is also more water leaving the first sponge than the second sponge. What matters is the difference
between water entering and leaving, the drop of potential. The difference between water entering
a leaving each sponge is the same.



